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(12" CLASS 12015) .

' TIME : 2.30 HOURS

SUBJECTIVE MARKS : 80

SECTION-I

8) short questions 16

=-3 and f(-1) =0 Find values of aand b

hat (1-x%) yp—xy1-2=0
8) short questions 16
e the value of (3 1)

.*'_41 = 1=X

mequahty 3x+7y >21
> linear inequalities x+y<5 ;-2x+y<2;y 20
; 18



3x10=30

x # 2 find k so that f(x) is continuous at X = 2

the diagonals intersect at (2, 1) and the sides has slope

o R

v -2x+3y
w20y 0

o through the points  A(1, 2) and B(1, -2) and touching the line
o+ 6)‘= Cosa Cosp - Sina Sinf

height 25 m. Find the height of the arch at the point 30 m

b=bxc=cxa
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TIME: 30 MINUTES , MARKS: 20
b;ecuve type questlon as A,B,CandD . The choice whlch

le in front of that question number Use marker or pen to fill

more circles will result in zero mark in that question.

©,0) (C) (0, ) D) (- 1,0)

180

©)-1 O)—

B 7 o
© o A -1
(C) tanx (D) Secx
iB2e”  (©)3” (D)) xe™
a
! (Od'na (D) xIna
B)ae™ (C)xe™ D) ™
i a
© -2 D)1
(D) Sec3gt_agx
2 3
o 1 D) 0
®) ;

(D) xe™*
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PAPER CODE = 8192 >
(12" CLASS - 12015)
OBJECTIVE TIME: 30 MINUTES , MARKS: 20

ive type question as A , B, C and D . The choice which
front of that question number Use marker or pen to fill
wore circles will result in zero mark in that question.

ix+21 x#-21s
Xx+2

1} MR-{-1,1}

Even function (C) Odd function (D) Neither even nor odd
)= (A)Cosx (B)-x (C)-Simx (D)x

f'y with respect to x is given by

dy/dx (D) dx/dy

(A) LB ©-1 Do

(A) - 4 B4 ©O% D) -

(A) (B) Secx tanx (C) Coszx Cosecx (D) - Cos’x Cosecx
X[x -1

¢ (B) a _+c (Olna"+c (D)lnaa"+c

Ina

)0  (C)Constant (D) x

x dy-2y=0 (C)dy-2y=0 (D)lx dy-y=0
dx dx dx

D)1

= x+c (C) Cosy=Cosy+¢ (D)- Cosy—-Cosy+c
0%, ¢ B) Sinxe™ +c (€)™ +c (D)™ Cosx+c
Ox+3y-1=0is (A% B2 ©3 D13
+¢=0 when a=0andb#0,c#0

(B) Line is parallel to x-axis (C) Line passes through origin

equality
0 ik +5>0 (D)2x+3<0
y)on X =4ay is

(P)y a

+y +2gx +2fy =0 at the origin is
0 D +iy=0



